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101 @124l 28,670 25,861 2,809
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OoJles 66,9003 * 18 » 246 16,458
O Fs=¢ 66,900& = 1% = 52¢ 3,479
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U sg2f+E 100,350& » 1€ = 302 3,011
O AX=g 66,9003 * 1% = 15 1,004
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100,000& = 1Y « 23] 200
201 YEr2 2t 7,540 7,540 0
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8,000& = 3% 110 2,640
02 =224l 4,300 4,300 0
03322 2 HMA 1,300
O g7 UUOIIE B33 (=x&, 2HY
IEANEE F) 1,300,000& * 14| 1,300
O AIEEHIR XY 3,000
O ZFJUOIME M= Ea
,500,000& = 23| 3,000
202 Odl 5,900 5,900 0
01 = LH 4 1i 5,900 5,900 0
O S bI 5,900
O MeM =<2 20,0008 » 5% » 31 3,100
O FIMEXH =HZA
80,000& = 5% = 72| 2,800
401 AIEHI L 2CHEI 40,000 40,000 0
01 A& tl 40,000 40,000 0
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O B&3 ttaz 2,628,000& * 2AICH 5,256
O SR LUFE (M) LMK 253 gHe 23,260
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